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Sfigurel.?

t=-10:0.1:10;

x = sinc(t./pi);
subplot(1,2,1);
plot(t,x,'k-")

hold on

plot ([-10 10]1,[0 01,'k")
axis([-10 10 -0.3 1.21);
xlabel (' (")

ylabel ('x(t)=Sa(t)"'")

n=-10:2:10;

x = sinc(n./pi);
subplot(1,2,2)

stem(n,x, 'filled', '-k")
axis([-10 10 -0.3 1.21);
xlabel('n'")
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$figurel.10

t=0:0.1:8;

X = exp(-t);

y = exp(-0.2*t);
plot(t,x,'-k',t,y,'-.k', "linewidth', 1)
axis ([0 8 0 1.21);

xlabel (' c )"

Ylabel (' ")

legend ('R=1"', 'R=5")
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MATLAB
sfigurel.13
t=0:0.001:1;
x = 8*exp(-3*t) .*sin(10*pi*t+pi/2);
plot (t,x,'-k', 'linewidth', 1)
hold on
plot ([-9 91,10 0],'k")
axis ([0 1 -9 91);
xlabel (' (")
ylabel (' ")
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Sfigurel.l6

t=-10:0.001:10;

x=cos (t) .*heaviside (t+2);
subplot(1,2,1)

plot (t,x,'-k','linewidth',1)
hold on

plot ([-4 10],[0 01,'k")
axis([-4 10 -1.2 1.21);
xlabel (' )"

ylabel ('cos(t)u(t-2)")
y=heaviside (t+2) -heaviside (t-3);
subplot(1,2,2)
plot(t,y,"'-k',"linewidth', 1)
axis([-3 4 0 1.21);

xlabel (' )"
ylabel ("u(t+2)-u(t-3)")
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